Candidates must N

ENGLISH PAPER MAIN TEST 1 FOR 2016 ENTRY ~ ANSWERS (Cider With Rosie)

OT tick more boxes than they are instructed to. Any who do will lose all the marks for that questioh.

Question

Answer

Marks

1.

C

1 mark

2.

Various, To pray, worship, attend a service, learn about God/Jesus, sing hynins, hear reading from the
the Bible, learn about Christianity, talk to the priest.

1 mark

To have a drink, meet people (over a beer), refreshment, company.

1mark =

jumbled’ = ‘dreamy’

2 marks

A, E

2 marks

C E

2 marks

AR W

He says the morning came “without any warning”. OR
‘When a cap is'put‘on his head (and/or he'is given a baked potato) he does not understand why
(or he asks “What’s this?”)

1 'mark for the answer, 1 mark for its clear expression including use of a sentence.

2 marks

He thought that the punishment for not going to school (according to his sisters) was too strict.
Exaggerated.
The idea of excessive severity is key. Reward clear and apt expression.

2 marks

He was miuch shorter than most of the other students, so this was what he saw at his normal eye-level.

Reward clear expression with the second mark,-including the use of a sentence.

2 marks

B, D

2 marks

10.

(a) kind (or helpful), considerate, generous (anything suggesting ‘giving’ in his moment of need.)
(b) ‘She was only sixteen / she was so young OR because she boxed a few ears.

2 marks

11.

A) ‘instruction
B) jumbled
C) odours

D) confronted
E) rabble

F) screwed
G) smouldering
H) ruthless

I) shy

9 marks

12,

He thought she meant that he would receive a gift, but in fact she meant he must sit still
(for now/for the moment/for the time being). Both aspects for 2 marks.

~ Ananswer can be half-correct and thus score 1 mark;

2 marks

113

(a) Iseenit (1)
- Should be “I have (I’'ve) seenit.” (1)
(b) Because this was how he (and his sisters/and other children) really spoke. (1)

3 'marks

14.

He stole someone else’s apple when his potato had been stolén.
He dares (when encouraged) to tell his teacher that she is wearing a wig (even after she denies it).
(2 marks, + 1 for expression) :

3 marks

15.

(a) He saw her hair net and thought it was partof a wig.
(b) No ,
(c) kind, considerate; thoughtful, helpful or attentive, generous (any of these answers are acceptable)

3 marks

16.

D

I'mark

TOTAL

40 marks

Applied Reasoning (1 mark per question)

-

s

cable

mauve

duckling

grade  glade . pearl
alike  alive  knives

5 marks

Continuous Writing

This will be marked as one piece of work and candidates will be expected to write in appropriate
styles for the two contrasting tasks. Candidates will be assessed on accuracy, spelling, punctuation,
the quality of writing and originality.

15 marks

TOTAL

60 MARKS




